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A COMPOSITION MARKING SCHEME

MARKING CRITERION .
1. | The composition will be assessed according to the following guidelines.
- The maximum mark will be 40 and the minimum mark 01
- Does the script show that the candidate can communicate accurately, fluently and imaginatively in English?

Accuracy (8 marks) . ,
a) Correct tenses and agreement of verbs (4 marks) b) Accurate use of vocabulary (4 marks)

(16) c) Following a sequence ( 4 marks) d) Correct punctuation (4 marks)

Fluency (8 marks)
a) Words in the correct order (4 marks) b) Sentence connection and paragraphs (4 marks)
¢) Correct spelling (4 marks) d) Ideas developed in logical sequence (4 marks)

Imagination (8 marks). '
-a) Unusual but appropriate use of words and phrases (4 marks)
b) Variety of structure (4 marks)
NB: Please, teachers are requested to scrutinize this marking scheme before use, it is worth
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' SEHEMU YA PILI: -INSHA: .

| - 'SOMA MAAGIZO HAYA KWAMAKINI ‘
1. Kwenye nafasizilizoachwa hapo juu andika Nambari yako kamili ya mtikani, Jina lako ns Jina la Shle yako.

2. Sasafungua karatasi hii, soma kichwa cha insha kwa makini na uandike insha yako kwenye nafasi uliyoachiwa.

| Kijitabu hiki kina kurasa 4 zilizopigwa chapa. - ;
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* Time: 40 minutes

ENGLISH |
SECTION B COMPOSITION

READ THESE INSTRUCTIONS CAREFULLY
1L In the spaces given above write Full Index Number, YoIr Name, and the name of Your Sclool.

2. Now open the page, md the heading of the compesition canfllly and write your composition in the given spaces.

.~ This unestion paper consists of 4 printed pages.
©  Stega Print and Publishers Itd Tel: 0722232164/0722 822 364
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“Write an intéresting essay about a ternbl~ le i
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READ TH§§E lNSj{BUCTlgN§ QAREFULL R :
You have been given this question booklet and a separatc answer sheet. The questmn booklet contains 50 quesnons

Do any necessary rough work in this booklet.

* When you have chosen your answer mark llonihe ANSWER SHEET not i in thc quesuon paper

HOWTO USE THE ANSWER SHEET

Use an ordinary pencilonly.

Make sure that yourhave written onthe answer shce’t
YQ‘UR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL

By drawmg a dark line inside the correct numbered boxes mark your full Index Number (x e. Schoo! Code Number }'_ﬁ
and the thrcc-ﬂgurc Candidate’s Number) inthe gﬂd near the top ofthe answu sheet. :

" Do not make any marks outsnde the bo\es

Keep your answer sheet as clean as possable andﬁ() NOT FOLDIT. Seas
Foreach of the Questlons 1-50 four answers are gwen The answers are lettered A, B C; D in each case only : &
ON E of the four answers is correct. Choose the ¢orrect answer. ' ; Mrded

On the answm' sheet show the correct answer by drawmg a darkline inside the box i L whwhthe lettser you have : i

chosen is wrmen

In the question Booklet: - s : 2
14. Cbemncalsusedby famers to wntrei ucksareca}led L

A ~ tickeides
. C.  pesticides

D.  acaricides Y :
vThecortcctanswerisD‘ e RO O

B wsco (A} 181 [} - (A} 18] (€] D) [A; 151 l(‘l lm e
 Inthe set of boxes numbered 14, the box withJletter € pmnedmft lsmarked s AR

" Your dark line MUST BE within the box. : _
POI each questum ONLY ONE bm isto be marked in Ldth set of Inlu bu\u. g

Thns qucsmm pap(-r conskts of 7 prmlul page
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v : '—In theainmentarycanaf Watermﬁmmlsm
24 absmbedmtlk: A PSR

D. long.stranghtandsen'ated e

} E'itremcly dcepmot&mplams gmwug

“areasareusedin - ¢ -
:'B pm'entmglossofwater
i b wachmgdiedéepmdergmundwater
: ,andnadmﬁnaw
'A Use of low: u,mperaime

B. (nnmng

e | Saltmg

in use.

A. colon
B.ileum
C rectum

D stoma"'a

The beaksofmeb.rdsm'eedonﬂeshm e
-A. short. stralglﬁalldi__ Bl

R

B. short, strongamihooked :
C. long. slenderand slightly em'ved

' Aawmch

Bapulley

Boit "‘D Withermg

A. losmg excesswaﬁef'

C. suppomugmm

Which method ofptcscrvmg toodxs bothnméem : 2

C Reﬁ':gewaoﬁ

o bl shows  sinple mch

: e
e

he B Smokmg tobaCCO

8 thhvwrofbloodvmfsm;.i_l:_ T
i matcbedw mmmsfbmedmm-

A B 5 |
e Pulmonnryartery
: D Pulmonaly\em :

Thénmchinéisanexa‘mplei. r‘

C. an inclined plane

D.alever

A Rcmdedgrowth CRAEE i R
& BRcducedylelds

. Excesuveuseof temhzers Sy
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% "A prevent splashing water from tbcco!lecm;g &

R ) makettmeasurewateraccuratelv

10.

A

¥ i

: mstmment to, .

| -B avo{de\aporauon ofthe collm&ed“ater‘

('. make 1t ﬁrm

 Whichone of the foﬂowmg is NOTadet:
_ _dlsease’

_A. _B;lharzxa o
7 j( Marasmué :
s Kwashmrkor

- As Breast-feedms

. B Sexual comact

; mtoﬁiefunnei

‘Whlch oﬂhc fo!lo“ ing isaway otcumrollmg lhc:v § T

SPrcadofHIV/All)S’? f A

€€ matmg awamness

'D Bloodto bioodcomacx

Which of the groups below hias anintals with
similar characteristics?

A.Ant. bL()rplOl'l bulk

- B Spldu‘ mite, \wbp

C. Termite, g,ras.shoppu tu.k

D. Wasp ants. hmm fly .

.

of a seed but Nt)l mmdu
{1) Lmu’ucmc ol plumul&.
: (u) Absos plmn ut \\ dlL r
(iib) [hus_un_g of the testa-

(iv) Emereence of the radicle

W hich one of the following isthe CORRECT T

T Ik tullm\.mg 5houbtm pumuscs’nt aun‘mn‘umn, '

Ordemfthemss(?s" £ S
AG@BE

B GG

C (lmv)(m)(n):;_"-:;.-_’7._‘3; .;:.j s
D(")(ln).{i)m}; S

14 Urea and sahs are MA!N[ Y cxcreted by
A th hmg
B thekldnev

15 Wh:c _ tatemem about v ertebrates ns( ORR FC]
B Ftshami amphlbmm are warm hloaded 3
L Mzummlsamlb&rdsguc bmh tolmyoung e ‘

ME g i
C Rept:les and bn'ds ha\ € mtemal temhsauon
D Flsh andbjrd‘shave cxtema:l ienhsatmn :

[ l6 ﬂaesorl thathaslhe poorest caplmmty

A alsocmckswhen dry
B. hqs_th(x&nallcst partu.les

C retams ztlot' of watet

D, hasbigair spoces

s o lmxlm.hntthr:foumung,acmlm.nsllk turu.ull,

B Wulkmﬂdoxx‘!'llnll
: ( \\‘n . % 0{1 a dmlkhmrd

gl i 3 bgt)ppy11,, a;pm_hng «,dr :

.

4 «'__‘18,, “hthOf tln. ph\nlﬁhel«m is urunbm dm.sN()l

ﬂm\u :
\ \!us.humm
BiFem 1
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S *tbemgn nvestlgat edxs S -' 39 AﬁshnsahlgtomovesmooﬂﬁymwaterMAlNLY
Tl S e b

A. refmcnon At ik e
- B.light tm\elsmstrmgmlmes B : _A mssmnhngd i o
S B 1thassca!es e

L reﬂectmn Fs o
: .C 1thasfns

D. dlspers;on_ 4 i o
: . _-.‘D xthasanmrbladder

36. ,thchtypeofteethareNEVERshcdoﬁ" . e rd and soft waters
AMolws e W@S“??‘Q.W??’“?*d"_“*fy b L8

‘ | iy : oy % A.bonlmg :
B. addmgchemlcals
C. lathering the water

ko5 Camnes
D Incisi)fs
37. WhnchonestOTacomonwaym“mch AR .Dj‘?‘?‘i'?gﬁfef’??ter P
narcoucdrugsareabused" ok
A. Sriffing e
B Smokmg
C.Injection”
: D.Rubbmg”_a Fress

A mmgl@do_NOI‘dependonpiantsfor T i 7

D. medicine

" 38, Thedisgrambelowshowstheamangementof © | | N
g ki cohxpostnuuure SN0 1 -}2, The diagram below represents an expenme;n{

~ done to investigate-a certain component of

 the soil.

- - : Kk
ety o——(Garden soil
s e ; oy

- Maize stalks

Source of heat——

.....

3 The com mnt hunu ny eslig wed is
B. pmwdmgaddmonal nutrients pon

R PR - A.air
C. allowing uniform decomposition

. g e B. humus
D.introducing decomposcers -

C:living organisims

D). water
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43.

The vaccme giventoan mfam to pmvndc
protecnon against tuberculosxs is known as '
A. polio

B.DPT

C.BCG

e composmon af air

48,

'ﬁmcuon"

"cs
.DR

LB measles

The d:agram bdow represents the : ik

; Gas
AQ
B.P -

Whlch subslance belaw has adeﬁnﬂc massand

e : size butNO deﬁmte shape"

© 46,

: elccmctt\" 23

A Flour

; B Placcofwood
-.C Gluc Sy

/

. Whu.hom.ol thc toliowmg lsasourceofstanc;-' e

:_‘,. 7

47

Whlch of the fol%owmg conserves: soﬂ the

-LEAST" er

: A.Teﬁacmg_.i
 B.Contourploughing

C. Use of organic manure

i thhoncstOTacondnhonnecessary for -

i ‘genmmnontotake place?

: AMQ{StLlIE

49

, Wluchone of the follomngmatmls wxll float on.,
.f_.'j.,i waterwnhoutchang,ng ltSsquO : ;
: ‘TTA Aballofmetal S

CA"“‘“""W

: Whtcb statcmembelowdamNOTdescnbe
b -cwnulusclouds” e |
A A Dadcgreymcoiour 3
eioa Whiteand flufly
b C Fommghmmesky
'D Flatbase

i Banﬂommbbt:donmatmals o e Tl L

: B Drycells -

€, (’ar battenes

B Soldr pauek
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READ THESE INSTRUCTIONS CAREFULLY
You have been given this question booklet and a separate answer sheet. The question booklet contains 90 :

questions.
Do any necessary rough work in this booklet.

. When you have chosen your answer, mark i iton n the ANSWER SHEET, not in the question paper

HOW TOUSE THE ANSWER SHEET
Usean ordinary pencil only.
Make sure that y(}u have written on the answer sheet;
S ' YOURINDEX NUMBER
YOURNAME
'NAME OF YOUR SCHOOL : .
By drawing a dark line inside the correct numbered boxes mark your full Index Number (' e Schoo! Code
Number and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.
Keep your answer sheet as clean as possible and DO NOT FOLD IT. ;
For each of the Questions 1 - 90 four answers are glven The answers are lettered A, B C; D in each case only
ONE of'the four answers is correct. Choose the correct answer. - - :
On the answer sheet show the correct answer by drawmg adarkline ms:de the box in which the Ietter you have
chosen is written.
Example

‘In the question Booklet:

39. Three ofthe following are pyrethrum growing areas in Ken)a EXCEPT
A. Molo
B.  Nyandarua
C. .Muran'g’q
D. . Kericho
The correct answer is C. . ; ‘ o
(A} 18] [C] D] ALIBLE D] Al [B} (€] D} [A] [BI [C] D]
In the set of boxes numbered 39, the box with letter C printed in it is marked.

Your dark line MUST BE within the box.

For each question ONLY ON E box is to be marked in each set of four boxes.

This question paper consists of 12 prihted pages.

© Stega Prm! & I‘uhllshen Lrd: TelFax: 020-2251394 Cell: 0722»232 164 ,0734-701510 Nairobi
Email: stega, pnmers'(a gmail.com
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Sttgdjr the map of Rum‘d Area and answer questions 1 to 7.
| ' RUMA AREA

M v L

> =

SCALE:

I + —+t } el } t + o { KM
0o 1 2 3 4 5 6 7 8: 9 100 11" 12

. Key | |
{P—Forest | ) | DO —District officer

N —Tormac Road MS—— Museum |
]E—Bridge o : @—- Quarry

Af_—-—-Scrub R A —Urban council boundary
cc —-—-Ch.iefs camp : : DD-—— Permanent Buildings

+H ——Railway line | Mkt — Market

LC =—=Level crossing

Sch ——School
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The land in Ruma Area slopes from
to . :
A. North west to South east

B. South west to North east

~ C. South east to North west
D. East to West

»

Three of the following are: ﬁmmans of Ruma Town. 1

Which one is NOT? i
A. It is an education centre

B. It is a tourist centre

C. Itis anindustrial centre
D.Itis aresidential area

 Whatiis the appmxunately length of the raxlway line

in Ruma Area?
A.17km
B.15km

C.24km

D. 19km

Which one of the following cash crops is MOST
likely to do well in North Eastern part of Ruma?
Area?

A.coffee

B.cotton

C.cloves -

D.tea

The climate of Ruma Area is LIKELY tobe . -
A. Hotand wet
B.Cool and wet
C. Cool and dry
D. Hpt and dry

- Which one of'the following economic actwmes is

NOT carried out in Ruma Area? .

A Tourism
B. Lumbering

- C.Mining

D. Trading ‘

Which of the fol lowmg local Authormes admnmsters
Ruma Area?

" A. Municipal council

B. Town council

10.

I1.

C. Urban council
D. County council

- Which one of the following countries in Africa is

NOT crossed by the line of latitude 23'/ Ysouth?
A. Mozamblque

'B. Madagascar

C.Namibia

D.Angola

* Three of the following were the reasons why the

Nandi fought the British from 1895. Whlch one
was NOT? '
A. they thought the Bntlsh were gomg to take
their land
B. they had been warned by Orkoiyot Koitalel
- Arap Samoei to be aware of a black snake
passing through their territory V :
C. the Nandi did not want to be ruled by outsiders
D. the British were trying to bring anend to cattle .
raiding among Nandi

Which one of the following is NOT among the ‘
broad, shallow depressions in Africa? .
A.Congo v
B.EIDjouf

C. Qattara

D. Kalahari

When the sun is at the Tropic of Cancer. areas

outside the Tropic in South experiences

season - | '

A. Winter =

B. Summer

C. Spring

D. Automn o -
Use the diagram below to answer question 12

SOCIAL STUDIES HB-04/8/15




12.

13.

14.

15.

16.

17

Which one of the following lakes was formed
through the above: process"

‘A. L. Nyos

B.L.Shala
C. L. Chala-
D. L. Katwe

Three ofthe following are residual mountains in
Africa. Which one is NOT?

A.Mt Ahaggar

B. Mt Meru

C. Mt Tibesti

D. Mt Fishers Tower

Which one of the following is NOT an effect of

" revolution?
A It causes seasons

B. It affects the length of day and mght
C. It influences the position of the mid day sun
D. It causes deflection of winds and ocean currents

The Great Rift Valley runs from Jordan to

" A. Lake Malawi in Malawi

B. Beira in Mozambique
C. Lake Turkana in Kenya

D. Lake Natron in Tanzania

Who among the following was a leader of the Mau
Mau ? '

A. Sir Evelyne Baring B

B. Jomo Kenyatta - '

C. Waruhiu ltote

D. Paul Ngei

250- ' 25

200 4

g
N
-
o

RAINFALL (mm)
g
o
TEMPERATURE (C)

0
3 -
1
[4,]

The climatic rcglon above lsNOT hkely to be found
in? ,

A. Nyika plateau

B. Danakil in Ethiopia

|21

]

18.

J1o.

C. Ogaden in Somalia
D. Taru in Kenya

The following mountain vegetation is found between

3500m to 4500m above the sea level. Which one
isit?

~ A.Rain forest

B. Heath and Moorland
C. Bamboo forest
D. Snow and bare rock

Three of the following are plain Nilotes in Uganda
EXCEPT? -

| ~A. Jie

20.

B. Teso
C. Karamajong
D. Sebei

- Which language is spoken in both Entrea and

Ethiopia?
A. Arabic
B. Amharic
C. Tigrinya
D. English

Who among the following was NOT a founder

" member of African National Congress Youth

~ League (ANCYL)?

22.

123.

- D. Ngolombe

A. Walter Sisulu
B. Oliver Tambo
C.Ariton Lembede .
D. Herbert Chitepo

Who among the following was'among the founder
members of Organization of Africa Unity (OAU)? -

A. Siaka Stevens of Sierra [.eone

B. Jomo Kenyatta of Kenya -
C. Nelson Mandela of South Africa
D. Robert Mugabe of Zimbabwe

Which one of the following pre-historical sites is

'NOT found in Tanzania?

A. Kalambo falls

. B.Peninj

C. Paraa

SOCIAL STUDIES HB-04/8/15



24.

25.

26.

27.

28

Study the diagram below_and answer the

following question

In amap, Lmagmary lines connecting any two
' places with the same element measured using the -

above instrument is called S
A. Isobar ¢ R
B. Isotherm ’ P

~ C.Isoraingauge

D. Isohyets

“Fhe folfowing is a population structure of a certain
- couing onass

(i) Highly urbanised and industrialised
(ii) No unemployment '
(iii) low birth and death rates

The country described aboveis.
A.India’

 B.Germany

C.Nigeria
D.Kenya

“In which of the following stages of evolution was

fire invented?

A. Homo habilis -
B. Homo erectus
C. Homo Sapiens
D. Kén_va Pithecus

Who takes minutes during a school staff meeting?
A. Head 1eacher
B. District Education Officer

“C. Deputy Head Teacher

D. Senior Teacher

i z?.

30.
31.

32.

33.

. The above breeze takes place

A.duringthe day

B. during the night
C.inamountain .
D. early in the momm5

Which among the follovwng, pairs led the Afncan
teant in attending the First lancaster House 55
Conference held in London in 1960? ; A‘

A. Jomo Kenyatta and James Gichuru -

B. Fred Kubai and Paul Ngei B

o) Oginga Odinga and Harry Thuku

D. Ronald Ngala and Tom Mboya , N

The Songhai belong to the

A. Voltaic speakers
B. Mande speakers
C. Nilo Saharan

D. Afro Asiatic

The following are settlement schemes in Kenya.

Which one is NOT?

‘A.Endebes -

B. Katilu

G Chepsir“

D. Lake Kenyatta

What is the name of the fishing method illustrated
below? :

A. Purse-seining
B. Netdrifting
C. Trawling

D. Long-lining

Which one of the following is a MAJOR ditference
between horticultural farming in Kenya and
Netherlands?

A. Kenya has poor transport system

B. Mostof the farming in Netherdands is done in

polders

QOCIAl STIINIEQ MR . AAIRI4E



34.

38.

S

C:Kenya |acks eno'ugh capital to lrh“a'n"agc the
m " ;

D. Green houses are extemwely med in
Netherlands : s

Wihich one oF the following breeds bf'cattle is
NOT kept in dreas Whicii dré hot aid tbceives
low rainfill?

A. Aberdeen Afigis
B. Hereford
C. Chardlais
D. Aryshire

The New Kehya Party (NKP) which was
represemmg the interests ofs&i&h in Keﬁydwas
founded By E

A. Sir Michael Blusidell

. B SitEvclyaning

36.

37.

C. Sir Fredrick Lugrd
D, Edie Sttiith

The foilowmgate uses of a certain minerai

(i) making paitits o

(it thakirig sounid inisiilatots :

(i) making plastet used in Hospitils™
(iv)making filtets for beer, water and soft drinks

Thé mineral désctibed abbve is cﬂ!led

A.Sodaash

‘B. Diatomite

C.Limestone
D. Flourspar

-
- o
e

* Which among the following rivers does NOT
~ form the above feature at the wouth?
- A. River Niger
_B.RiverNile

" Divesr Caonoiral

4.

D. ijer Tana

" Swaziland 1snﬂedthmughatmdmonal systemof
' govcnmmtcalled

A. Ngwcnyama
B. Libadla

C. Ligogo

D, Tirikhundia

s

']'HebAUwastmﬁsﬁn‘mdtmotﬁeAM Uﬂmﬂ
(AU} ifi March, 2001 in
A. Dtirbin, South Africa
B. Adldis Absba, Ethiopid
C. Lusaka, Zartibid

D. Abuj4, Nigeria

'mmiﬂihgmﬂﬁod showii below is x5

% Aa Aditmtw tiher

B. Open cast method
C. Drilling method.
D. Dredging method

Which mineral is imined through the aiuovﬁ
method?

. A.Soda ash

42.

B. Limestone

C. copper
D. Oil

Which of the following would be the BFST
melhod of forest conservation?

~ A. Fencing the forest reserves

B. banning charcoal buming
C. usingenergy saving jikos
'D. Educating people on the importance of forests



43.

45,

46.-

Conversatio Held betweeh conflicting groupsof

people in order to solve a problem is reﬁfrred to as

.~ A. Negotiation

B. Dialogue
C. Mediation
D. Arbitration

Three of the following ate the fiijor toiirist
attractions in South Africa EXCEPT?
A. ngemwoﬁsipmk Y

B. Robbeti Istind tonuiment

€. Valley of Kitigs |

D Coiistal bedches

thch ofthe followinig i is NOTa meﬁ:lbér of
COMESA"

c. Seycheucs
D. Matrritius

What ihstmctiaﬂs does the road slgn belhw glve i

ckwer"

A.Noentry . P
B. stop

C. No parking

D. road closed /

frica below and answer

47,

The multi-purpose river project marked A is cailed

-A. Aswan High dam

C. Tanariver project
D. Voltariver scheme -

Which one of the ﬁ)ﬂbmng colomal systems of
admmlstratioh wasaﬁplkd i the cdhntry m&rked
K?

A.Assmnlmm

-BAssocxwm

C; D:;ect rule .
D. Indirect rule

mm,mommmmcmdomnﬁw |
MWM&ZB : ;
A.mining = .

b;cmpmmg'

'I‘hephysncal rcg:onmarked.hs o
A.Ahaggah plateau

B. Jos phitedti

D. Adaitiawa highlands

f#i the kingd_&_)m,o'fomcim,mekingfl&a's N
succeeded by:

B.hiseldestson. .
C. his youngest brother
D. his sister” sson
Who among the folkmmo mﬂuenced Kabaka _
Mutesa 1 to allow christian m:ssnonanes 10 thg
ng&‘-m’

A. Vasco Dagama

B. Henry Munton Stanely
C. David Living Storie

-D. John Speke

What 1ax is paid on LO()dS coming 1o, Kem a Imm
otheer couinitries?
A custom duty

B. sales tax



55.

56.

57,

58.

C.income tax

D. excise duty

Which of the following will NOT make an MP lose

his seat?

A.Resignation

B. Bankrupcy

C. Defectingto another party
D. being jailed for two moriths

Which of the following is NOT a functionof
parliament? ' ;
A. making law

B. interpreting law

C. approvmg goverhment expenditure

D. linking the people and the government

J udﬂes in Kenya are appomted by the
A.Judicial Service Commission”

B. Chief Justice

C. President

D: Attorney Gcmm]

Which of the following highly undermines national
unity ina country? '

- A. Political differences

B. Nepotism - *
C. Tribalism
D. Racism

Mungai is a very wealthy man. He has refused his
wife from seeking employment anywhere. What
type of right has she been denied?

A.civil right

B. political right

C. economic right

D. social right

Which drug among the foltowing is NOT commonly

abused?

A. Mandrax

B. Khat

C. Cocaine" ' ' £

" D. Hedex .

60

et 37

61.

62.

T

164

Three of the following are problems facing IGAD.
Which one is NOT"
A. lack of trust

I o5
Pkt

" B. lack of trade goods

C. lack of funds

D. civil wars
SECTIONA

CHRIST[AN RELIGIOUS EDUCATION

Which one of’ the followmo was created on themﬂﬁh "

day? ] . N
A. plants . ' |

B. birds

C. wild animals

D. moon

Who among the following were brothers of
Abgham? LYo
A. Nahor and Haran
B. Isaac and Lot

C. Japheth and Terah
D. Lots and Haran

Who among the following was Jonathan s

orandfather?

A. Saul

B. David

C.Kish

D. Solomon

Three of the following are books of law
EXCEPT?

A. Deuteronomy

B. Numbers

C. Leviticus

D. Chronicles

Prophet Isaiah referred Jesus by ditl'ércl1t names
EXCEPT? ‘ T
A. suffering servant

B. wonderfukcouncillor

C.lambof God

D. The prince of peace

.

Jesus ascended back to heaven from mount

A.Olives

- B. Sinai

Y



67,

69.

70.

71

72.

C. Carmel -

" D.Pisgah i

Judas sold Jesus for
A.12

B.20

C.40

D. 30 A )
Which one of the fol lowing. leadership qualities is
BEST seen in the life of Joseph son of Jacob?
A humility

silvercoins

B. courage

C. openess
D. friendliness

The making of the covenant at mount Sinai
MAINLY shows that Israelites

A. would defeat their enemies

B. would enter the promised land

C. had become God’s chosen people

D. had power over God’s creation

One of the commandmeénts is * Do not commit
murder” Who among the following people -
disobeyed this commandment?

A. Abeland Saul

B. Naboth and Judas

C. Ahab and Cain

_ D. David and Peter

Acc'o;ding to the propecy of Isaiah read by Jesus in °

the synagogue in Nazareth. the. messxah was
supposed fo - g

A. set the captives free

B. conquer the Romans

C. establish a wealthy Kingdom

D. unite the Jews

Happy are those who are humble

A. God will be merciful to them

B. God will comfort them

C. the kingdom of heaven belongs to them

D. they will receive what God has promised

73.

4.

75.

176.

7.

78.

Which one of’ the tollowmg isa yﬂ of the Holy

s Spmt’7
- A.Love
‘B. Peace

C. Humility :
D. Faith

To be acommitted Christian means

A. Reéding_, the bible always

B. going to church all Sundays

C. Enduring suffermg, being patient and havmn
courage _

D. singing in'the church choir

“The disciples travelled through all the villages,
preaching the Good News and healing people
cverywhere What was the Good News?.

A. Preachmv the word of God

B. How to worship

C.Love 7

D. being good christians

Christ says, it was NOT because of any good
deeds, that he saved us but bcéause Qf '

A. His own mercy |

B.oursins

C. our disobedience

D. our faithfulness

What is the greatest commandment accordi ing to
Jesus? -

A. we should not steal

B. we should not kil .

C. we should love God with all our hearts with all

our soul and with all our mind.
D. we should make the sabb'lth day holy

“When my bones were being formed. carefully put
together in my mother’s womb when [ was growing
there in secret, you knew that I was there™.

(Psalm 139:15) |

A. God sees us all

B. we should pray to God always

SOCIAL STUDIES HB-04/8/15



79.

-80.

: 810

C. we should hope in eternal life
D. we should respect life .

‘When Jesus went to the country 'o_f the Gerasenes, ‘

He

A. healed a demoniac

B. healed a centurion’s servant

C. fed the five thousand - .
D. raised Jairus daughter from the dead.

What moral lesson did Jesus intend to teach His
disciples when He told them not to choose for
themselves places of honour?

A. loyalty

B.love

C. humility

D.obedience

When Peter taught Christians to love as God’s

slaves, he meant that |
A.they should work even on Sundays
B. they should not sin -
C. they should serve others

D. they should live todo God’s will

Ruth and Orphah were

-A. Kushites

B. Moabites
C. Jebusites

~.D. Levites

The MOST striking instruction which has been
difficult to obey in the Lord’s prayer

A.do not bring us into hard testing

B. May your kingdom come \

- C. Forgive us the wrongs we have done, as we

forgive the wrongs that are done to us
D. give us today the food we need

Spiritual poverty, according lQ’Jesus. is
A. lack of spiritual satisfaction ' '

- B. lack of material wealth

C. inflicting suffering on oneselfin order to attain
eternal life
D. Anattitude of seeking and trusting in God

85.

86.

87.

88.

89.

90.

Whe Moses complained of the difficult task of

delivering the Israelites out of Egypt, God: gave him

a spokesman called
A.Caleb

'B.'Aéron

C. Joshua
D. Jonathan

Durmg the last supper, Jesus said that the cup which
“he gave to his disciples was

A. his blood

B.a symbdl ofhis love
C. the new covenant
D. the old covenant

Jesus told his followers that they should be glad

' NOT because they had power over the evil spirits

but because “.
A. they were obedient -
B. they were his followers

- C. they were atpeace with God

D. their names were written in the book of life.

A traditional African practice whichis accepted in

the christian worship is

A giving of farm produce to God

B. Pouring of libation to the ancestors
C. offering animal sacrifices to God . -
D. calling the names of the'ancestors

Which of the following statements presentsa
Traditional African beliefabout God? "

- A.God is trinity
" ‘B. God is the protector

C. God lives in heaven
D. God will destroy the earth on the last day

Which of'the following was away of disciplining

“disobedient children in Traditional African

Commuities?
A. They were denied food for some tlme

" B. They were put in custody
* C. They were chased away-as outcasts

D. They were suspended from school

‘SOCIAL STUDIES HB-04/8/15
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62.

63.

64.

65..

66.

67.

68.

SECTIONB
ISLAMIC RELIGIOUS EDUCATION

Which of the following surah of Quran is the shonest .

ofall?
A.Al-Asr

B: Al-Baqarah
C. As-sajdah
D. Fussilat -

Which one of the following surah is related to the year
which prophet Mohamied (S.A.W) was born

A.Al-Ikhlas
B. Al-Humazah
C.Al-Kafirun

 D.Al-Fiyl

Which of the following surah has Bismilahi
RahmanRahim as part of its verses?

A.Asr :

B. Nasr

C. Fatiha

D.Igra

prayers is?
A. Fiyl

B. Fatiha -
C.Maun
D. Karifun

Which of the followmg quotation is a verse from surah
Al-Fatiha

A.”’say he is Allah the one

B. *And turn your attention to Lord

C “Guide us to the straight path

D. “He taught man that which we know it -

‘Which one of the following legal termsin islam refers

to anact which is desirable but not compulsory?
A. Makrulu

B. Wajib

C. Mustahaab

D. Halal -

The sunnah prayer perfomred atdawn is
A.Wir

B. tahajud

C. taraweh

D. Dhuha

The mail lesson which muslims lear from performance
of Hajj is?

69.

70..

A.Generousity
B.Equality
C. Patience
D. Unity

Accordmg tothe teachmg of Quran Larlatul Qadris

“better than

A. 1000 months

_B. 100 nights

C. 1000 nights
D. 100years

What is the duty of Angel Mikael
A. Heis responsible for blowmg the trumpet

- B. Incharge of the rain

71.

C.Incharge of questioning the dead
D. Responsible for bn'nging message to prophet

The third month of the zslamrc calender is
A.Ramadhan
B. Shawal

'C. Rajab

‘The surah that warns muslims against showmg oﬁ' in |

13

74.

7.

176.

D. Rabiul-Aawal

Prophet Muhammad (S.A.W)was burried in
A.Madina

B. Makkah

C.Taf-,.

D. Jerusalem

Islam forblds the hoarding of goods in order to fight

-against

A. Pride

B. Intolerance
C. Injustice

D. Unfaithfulness

Which of the followmg titles was given to prophet _
Musa (as) ’
A. Khalifatu Liah
B. Dhabiihu Liah
C.Kaliimu [.Lah
D. kalilu Ldah

In which of the following surah does Allah swear by
time? :

A. Asr

B.Dhuha

C. Maum

D. Kawther

The surah that explains the nature and existence of

Allahis -

A.Kaatirum

B. Ikhlas .
SOCIAL STUDIES HB-04/8/15
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78,

79,

80.

81.

82.

83.

C.falaq ~
D.Fill

Al-mawa’idha is a maneof the Quran that means”

~ A.Knowledge

B. Advice
C. Guidance
D. Reminder

Bijuma has a habit of piling ripe tomatoes on top of
raw ones. This habit is called

A. Ghush

B. Ihtikaar

"C.Rushwa

D. haram

Yathnb is one of the names in the city of
A. Mecca :

B. Medina

C. Baghdad

D. Yemen

Muslim perform Hajj mainly because it

A. Leads to muslim brotherhood

B. Performed for the love of Allah

C. Make the pilgrima good beliver

D.Is apillar ofislam

The following are Islamic practices. Whlch oneis done
to a newly.born baby? :
A. Dafan

B. Sayill :

C. Tahniq i ‘ »

D. Nahr '

Which one of the following is not apillar of prayers

A. Takbirah

" B.Rukuu
C. 1* Tashahud

D. Sujud

Ikhlas lives opposite her uncle house How many nghts

. does he have over her?

1

oO®»
NSO PSRN S )

88.

| 84.

85.

86.

187.

89,

190.

Which one wxll be like scattcred moth on the day of
judgement according to Al-Qaanah : -

A. The earth :

B. The mountain -

C. People

D. Angels

Which of the followmg surah of the Quran is known
as the mother of the Quran? , “
AMaum

B.Fatiha

DFalaq | - | |

Whlch festival is celebrated on the 1+ of Shawwal

A. Iddul Hajj
B.Aqqiqah
C. Isra-wal-miraj

' D.iddul-fitr e

Who was the ﬁrst rightly gunded caliph of Islam-
- A.Umar

BAl ' 3
C. Abubakar -
D. Uthman

Which of the following prayer is last of the day?

A. Witr

B. tahajud -

C. Taraweah
D. Dhuha

Who among the following sahaba resembled the
prophet (S.A.W)?

A. Amrbin Al Aas

B. Zuber bin Awaam

C. Musab bin Umeir

D. Ammar bin Malik

The father of prophet Mohamad (S.A.-W)was known
as :

A. Tbrahim

B. Abdullah

C. Abditwahib

D. Mush

'SOCIAL STUDIES HB-04/8/15
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tions. ; -
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- Whatis 5 640132.04 wrltten in words"

A Five million six hand:ed and forty thousand one
- hundred and thirty two and four hundredths.

B. Fifty six million four hundred and thousand one
hundred and thmy two and four tenths

C. Five hundred and sixty four thousand one hundred |

and thirty two and four hundredths.
D. Five million six hundred and forty thousand one
hundred and thirty four.

What is the value of:
3 ‘/ X3 '/ —2’/)+'

'Au7'@

B.7Y,

.8,

D.1,

Which of the following number pattern incréases by

- one thousand.
A 5400‘ 5500

5600
s
7600

3700

5700
8600
8700
2700

B. 5600 6600
C. 5400 6500
D.5700 4700

By how much is the value of the digit 4 more than the
value of digit of digit 8 in the number 743 829?

A. 5000

B. 500
C. 40 800
D. 39200

~

Round off the proddét“bf 128 and 45 to the né‘arést

thousand.

A 5760

B. 5800 , |
C. 6000 ’ .
D. 5000 ‘

A carton with tea leaves weighs 2000g. What is the

mass intonnes ol 6000-such cartons?

: D I4400km

S T
Cs 2 AT

D. 120

" metresin 3 seconds Ifit started the rallyat 11 pm -

.on Friday, what dlstance will it have covered at

‘B. 1296km

-‘:What LS 8 0997 roundcd off to thc nearest -
\hmdledlhs

B. 12000
C.0.12

During the annual safari rally, a car covered 120 4

8.00am the fol:low_mg day? i
A.360km - ’

C. 432km

-

A.8.09 e PRI

‘B.8.1
_c.9jo-

D.8.10

The population of a certain county was 42 300. In

- the year 2012. The following year, the population

10.

i

increased to 48 ()-h pcople What was the

sWa=i b=l

percentage mucase"’
A.15% :

B. 86%

C.13%

D: 10%

Work out 12(8!- 2%) - 48+ 8)
9 '

A. 80

B. 76
C.74
D.86 .

“What is the value of: 2¢? -2 (a-b) .

2¢a -c)

cand ¢ =47
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12,

13

. measures 120m, how long is it’s diagonal.

i. 14.

B

A. 13

B.S
-C. 26
D. 10

4

In the triangle ABC below, BD = BC, angle ABC =

line. Calculate the size of angle CAB.

A 1

50°

!

A. 30°
B. 65

- C. 40

D. 50°

A recﬁangular field has an area of 0.6ha. If the length |

A.50m
B.130m .
C.13m
D.24m

In a class, the ratio of boys to girls is 3:2. In an
examination, '/, of the boys failed the exam. If 24 boys
pasééd the cx.am»ination how many girls were in the
class. |

A. 60

B.24 "

C.36

D.12

A section of a road measuring 96km is represented

“onamap bya length of 2 Acem. Which of the following

is the scale for the map.

16.
50° and angle DCA = 25°. Line BDA is a straight | -

|17

» 18.

A.1:22400000
B.1:40 g

. C.1: 4000

D. 1: 4 000 000

What s the next number in the séqucnce o
9,10,14,23,39,  ?

A.48 | . T

B. 100
C. 64
D.54

* The diagram below represents a maize farm

40m

30m
Ozenda fenced it using three strdzmds of wire. How

‘many rolls did he buy to completely fence the farmifa

roll has 30 metres?
A.145

B.13

612

'D.15

Construct triangle WXY with XY =7cm, WY = 8¢m

and WX = 6cm. Draw.the perpendicular bisector of
angle YWZ and angle WXY to meetatP. Drawa

circle touching the sides of the triangle. Measure its
radius. - ' '

A l.5cmv

B.2cm
C.43cm
D.3cm

" MATHS - HB-04/8/15



22

19.

20.

21.

B.sh 114
" C.sh176
‘' D.sh 124

3

During an annual sale, the price of an ftem wasreduced |
by sh 1200. Olipah paid sh 3600 for the item. Calculate

the percentage discount allowed?

CA.T5%

B.25%
C.33"%
C.20%

“Atraincrosseda bndgc of 75min 5 seconds At what

speed in kllometles per hour was the train travelhng"
A.54 : '

B. 15

C.25

D. 90
Ohech bought the following items from a wholesale !

|2

i

shop.
2kg of rice @ sh 150

. 2-2kg packets of wheat flour @ sh 140

1 kg of sugar @ sh 124

-2 packets of tea leaves for sh 120

Oliech paid using 2 - five hundred shilting notes. How
much balance did he receive?
A sh 824

Zainabu shared her farm betweén’ her two sons.Chai

got 30% miore hectares than his. younger brother
Baraka. How many'.hee’tares did the two brothers

share if Chai got 12 hectares more than Baraka.

‘A. 3.6ha

B. 36ha
C.40ha

D. 14ha

:23.

24.

A rectangular container is 2m ‘k)hg. 80c¢m wide and

50cm high. The container isfilled with water toalevel

of 30cm high. How many decilitres would ﬁll the

remammgpanof the container? - N
-A. 320 600
- B.32000 4 ;

C. 3200 5T !

D. 4800

Solve the equ‘ati‘on. X-1+x _ 5 !

43 :

A8 |

B.2

C.4 .

D3

The table bclew shows the daily sale of shoes kept -

by atrader in January, 2015.. _ ;
[Shoesize [5 3 [7 [ 8] 9 [10

Pairssold[ 6 | 4 | 14| 10| 2 | 1

What was the modal size in that month?

A.10

B.8

c.9

D.F
. Below are properties of quadrilaterals:-

(i) Has two pairs of parallel lines -

(ii). Diagdnals ére equal :

(iii) Diagonals intersect atright angles
(iv) Opposite angles are equal.

Which one is not true about a rhombus?
A i) . | '

B. (i)

C.(i1)
D. (iv)

MATHS - HB-04/8/15
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. B. 18

D.48

28.

ln‘an_orchard 0.5 of the trees were mango trees, 0.75

of the remainder were apple trees and the rest were |

grape trees. There were 18 ap;;le treesin the Orchard.
How many grape trees were there?
A. 16 7

C.6

Wha_t is the volume of the ﬁgime bebW?

29,
' working for 4 days, 4 more men are employed. How
i many less days will the work take? L L ;

- D.4

B. sh 74 400

. A salés-wqman earns a basic salary of sh 15000 plus

A.4800cm?
B. 960cm?
C. 3 840cm’
D. 1280cm’

12 men can do a piece of work in twenty days. After
A 16

B.8
C.12

A trader borrowed shs 60 000 from a commercial

altogether after 2 )ears
A.sh 15264 -

C.sh75264
D. sh'14 400

a 10% commision on sales above sh 150000. In one
- 5

32.

33.

34,
- bank. The bank charged compound interest at the rate |
ofll 2%p.a. HQw much money did he pay to the bank

" month. her total earning was sh 25000, Calculaté the

total value of goods sold in that month.
A.sh 150000 '
B. sh 250 000

C.sh100000 -

D. sh 90 000

Omari made a solid from the net below, What is the

sum of the faces, edges and vertices of the solid he

made.

A.20
B. 26

C.19

D.25

Draw a parallelogram ABCD in which BC = AD =
7.5cm and CD = 4.5cm. Angle ABC = 70% Draw
the diagonals to meet at Q. What is the measure of
line AQ in centimetres. '

§0 A3T
B.74

C.49
D.9.8

The pie chart below shows how Hazina spent her

“monthly income. How much more money did she

- speiid on food than on rent if she spent sh 2080 on

MATHS - HB-04/8/115



35,

36.

37

38.

A. 4160
B. 2080
C. 8320
D. 1040

The marked price of an item was sh 24000. Henry
bought it and was allowed a 25% discount. If he later
sold it making a profit of 20%, how much did he sell
A.sh 21600
B. sh 18 000

- C.sh22800

D.sh28 800 -

What is the diameter of a cylindrical tank whose
volume is 1232cm?® and'a depth is 8cm? '
(Take I1=2/,) |

A. 56cm

B.7cm -

C. 154cm

D. l4cm

The hire purchase price of an item is 1 30% more than
the case price. Orina bought the itmnonhirépmchase:
terms by paying a deposit of 20000 plus 20 monthly

 instalments of shs 3251 each. What was the cash price .

ofthe item?
A.sh 110526
B. sh 65400
C. 85020
D.450329

angle UVZ =35°. Line WUZ is parallel to line VYX.
What is the size of angle WUV .

U\\

39.

41.

42.
In the figure below XYZ = 110°, VZY = 60°>and_ A

‘A 85°

B. 70°
C. 95°
D. 85°

Kugetha’s wnst watch gams 10 seconds every hour.

It was set rig_i\t on Monday at 10.40 am. What time
‘would it show the following Monday at 10.40am?

A.1012hrs
B.1108 hrs
C. 10 12hrs -
D.1108hrs

:Wairimuh$asquaregarden. She used 120 posts to

fence round it. The interval between each postis 5

~ metres. What s the area of the garden in hectares?

A2.25
B.22500
C. 150

D. 600

Mwikali has X mangoes. This is three times the

.. number of mangoes Mwenda has. Nzula has twice
- what Mwenda and Mwikali have. If they had 48

mangoes altogether, which of the following equations

_correctly represents the information given.
A x+2%x=48

B.x+3x+ 8x =48
C.4x =48 '
D.¥,+2%x=48

A meeting ended at 5.10 pm after taking 4 hrs 55
min. What time had the meeting started. '
A.10.05pm F LN

B. 10.05am

- C.12.15am

D.12.15pm

MATHS - HB-04/8/15 -



43.

“4.

45.

-46.

The solid below was painted all round. What was the
area painted? (Take Il =3.14)

20cm
\

‘. socﬁ\ :

A. 1727cm?
B. 2884cm’
C. 3"45,4cm2 ;

D.3140cm’

A rectangular water tank has a square base of sides

4.2m. Itholds 88 200 litres of water when full: What

is the height of water in centimetres?
A.5 ‘
B.21 -

- C. 500

D.210 -

Opindo packed cylindrical tins of radius 7cm and height
10cm in an upright position ina carton which was 1.4m

wide. 4.2m long and 30cm high. How many tins filled | -

in the carton?

A. 900 tins

B.360tins

C.33 tins . : -
D. 3600 tins

The following table shows the distance covered

between town A. B, C, D. E and F. How many more »

kilometres does a motorist cover from Ato F viaE
thanAto F via D?

30km |B
50km {20km| C
60km |30km|24km|D =
{120km | 80km | 30km | 18km | E
152km | 92km} 59%m | 36km | 15km | F
A.152km
B. 135km
C.39%m

D, 96km

47.

48.

| BT

50.

sat T b3es i FERFE RS
12 1 3~ SR ASEASIBa s SHN LONRE H p A
148 - R A IEEes iaae N
it ny bABA] Hat it chua 1me 11+
: e i i
m-. ﬂ: {RgRR Pt 4
325 ISl s s H s
1 : | ffasaa i 283 B IBENE ABE BN INSE
o0 P e R e
. :-5:%-- Sa e Fakd
- ) i
3 TR 2983 195RE I
: i iSE
i R
200 Pty R - -
§_ i {EECF LA SRIT s i HE
I} iajii:::::&:‘:: et L e S Synan eads
s B 5 7 SRRIREE] [BN, YERNA IS205 S50 E 10502 A0S 3]
-1 2 S8 22203 123 i Sa31 122
® lsp‘f‘ ks $8338 1aans | A4S Fead 1ERE - - o .~
3 o . FRE4 ERERS tRberd S L8 b s W 13s P8 FESas AR
- 1§ 521 TRED LRETR : ¢ ¥
T i3 iREE B t . ﬁ**ﬂ*h
i { FAES IRTRS 5T I &R 55 113: [5E1
» $353 1557 £ SEREE 15380 (35R8 RS 0N 12 7 iSRRG EhsS ;lé 2 1§53 |
o PST3 ITRRY Faoes pns i o ais 38323z 2283 man3 0TS
w Pt ER308 ERERE |20 NRE AT OSSSCMANY ERARIN FeY
543 & 81 Eaae Lns LEERS Bl T s 1w,
2 s 8 S IX2S2 IXRI2 ESRLR anEm EE t Ly
SR iasil dab SES84 sERuS S0y 12BRE b} .l!u% seq3 tBet
HE 38 12808 LRRGH ISHR. JRES 2

The length of two diagonals of a rhonib_u_s are 24cm
and 18cm respectively. What is the perimeter of the
thombus? o | ' .

A 15cm

. B.30cm

C.12cm
D. 60cm

There are 48 pupils in a class. Their average mass is

* 48kg. The average mass the pupils and their two
A teachers is 49kg. What is the mass of each teacher_ if

they both weigh the same?
A.4%g

B.97kg

C. T3kg

D. 146kg

Which of the following can make a right angled
triangle?

Al 12em, 14cm, 13em

B. 14cm, 48c. 50cm

“C. S5cm, 24cm, 25¢cm

D.7cm, 15¢m, 17cm:

The graph below shows two motorist travelling

. from different towns a distance of 350km. How
far apart were the motorists at 11am.

i o " o833
7.06 .00 9.00 10408 e 12.08 1.00

a.m. A, a.m. am, Aam. noen p.m.
A. 440km p
B.3.5km

C. 125km

Iy 100L 11
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FOHEHO .. KCPE JARIBIO LA NNE
, v@ - _DARASA LA NANE 2015
SEHEMU YA KWANZA O et i
-LUGHA e |

KWA MAAGIZO YA o
Umepewa kunabu hiki cha maswali na karatasi ya mapbu Kijitabu hiki kma maswali 50;
Ikiwa utataka kuandika chochote ambacho si jibu andika katika kijitabu hiki.

Ukisha chagua jibu lako lionyeshe katika KARATASI YA MAJIBU na wala sio katika kijitabu hiki cha maswali. -

JINSI YA KUTUMIA KARATASI YA MAJIBU
Tumia penseli tu ya kawaida.
Hakikisha ya kwamba yafuatayo yameandlkwa katika karatasi ya majlbu
NAMBA YAKO YA MTIHANI
JINA LAKO
JINALASHULE YAKO

Kwa kuchora kistari katika visanduku vyenye namba zinazokhhusu onycsha namba yako kamili ya mtihani (yaani' ,‘

namba ya shule. Na zile namba tatu za mtahmxwa) katlka sehemu xhyotengwa mwanzo wa karatasi ya majibu.
Usitie alama zozote nje ya visanduku.

Iweke safi karatasi yako ya majibu. : : : .
Kwa kila swali 1 - 50 umepewa majibu manne, Majtbu hayo yameonyeshwa kwa herufi A,B,C,D. Nijibu.
MOJA tu kati ya hayo manne ambayo ni sahihi. Chagua jibuhilo.. :

Kwenye karatasi ya majibu, jibu sahihi lionyeshwe kwa kuchora kistari kisanduku chenyc herufi ullochagua kuwa -

ndilo jibu.

Mfano: .
Katika kijitabu cha maswali; -
24. Wakati wa mazoea ni upi?
A.Amelima
B. Hulima
C.Alilima
'D. Atalima
Jibu sahihi ni B. A < | |
HB s oy (A7 (B} o B weoo Bowmioo

‘Katika visanduku vmavyoonyesha ma_nbu ya swah namba 24, klsanduku cha’tyc heruf B rsd:cho klhchochorwa

Kistari. -

Chora kistari chako vizuri. Kistari chako kiwe cheusi na kisijitokeze nje ya kisanduku.

Kwa knla swali, chora kistari katika kisanduku klmOja tu kati ya wsanduku vmne ulivyopewa.
Knabu hiki cha maswali kina kurasa 7 zthzopagwa chapa.

Email: &teg&printer&.@ gmail.com

. FUNGUA UKURASA

piy oy N




CJ Q plé\ﬁq b‘oﬁgl %\ﬁﬁ#&m‘&éwﬁ 6 nduguwambah Nlhtamam !lﬂ????" :

m‘g'—rr"ams%q}?}aklm wapi! Uchu wangu ulikuwa —9 " NxhatﬁbﬁiﬂAffﬂ AX' I e
i i ‘ ' ' ﬁH?ﬁ SN

1. A Lau (% ’m&mw L) m;msewuuwm Dlngawa :

G2 deviesmsnidd idid udnii A udiismaeyize o e a0 2 i It

/ I - 2. Amarad}n » B. ‘M‘Wm A f‘ s C ndwele % Lo D upweke

130 Anililzimka .':»_Bnlnnlazmnka CMmmka e

‘, 4. A kipekee - B pekupeku - ,_c.. peke . p:pgke_e N
‘5. Ahuwo S, o, hao 5-':;-}“Chayo .DQ,hiyO

6. Akumlko :&m Ckushmda . D.kiliko

y ilf'A,mlibr‘la i Cangaa ; ) D.kWani
8v. A.kwenu G | B. kwetu ' -. __C kwao - Dkwake i

' 9‘_ | A haupiki haupakun iy “ Bz’butebiléshg R Immhausikn D. alfanalfm"f!gal
TRINBERETR i, Bopalipo Coibeinbe. . Dpema
| Bila kupuuza __ 11 - ‘najuh.udi zako, leo ninayo huzuni na__ 12  : kukufahérﬁisha ; 13 “kwa

AanRdSE

- mara 14 mazingira yanachafuliwalli'lijaimb'o ‘15 . sama.

11. A.upwzi TR B.kagaha , C. wajibu R Dathan :
12. A jitimai B, raha | e OB e w0 Dokl 45
13. Akua gnaB. kwamba i Clicha . - “gps = o0 D), lau ‘

P S ¥ s
o ELI N

14. Alingne . B menine ©  Cjingine . Dnyingine ©

X

15. A.limenitiamoyo B. limenipigamoyokonde *  C. limenivunjamoyo - D limenitiatpordo

/ o




16.

17,

18.

19

20.

21.

22.

Kutaka swalt la_16 - 30, Jibu kila swalz
ulingana na maagizo uliyo ewd.

Chagua neno ambalo ni knsawe cha klbah

- A.Risiti+ . ;

B. Ruhusa\ :

C. Stakabadhi -

D. Shahada

Chagua Kinyume cha sentensi hii: Nina furaha kwa
kuungana na shaibu.

A. Sina raha kwa kutoungana na b:klzee

- B. Nina huzuni kwa kutangamana na ajuza
C.Nina majonzi kwa kutengana na ajuza

D. Sinajitimat kwa kutotangamana na shaibu  ~

Chagua umoja wa sentensi ifuatayo: Mawe mazuri
na matunda mabaya ni yetu.

A. Jiwe zuri na tunda baya ni langu

B. Tunda baya na jiwe nzuri ni yangu

- C. Jiwe nzuri na tunda mbaya ni yangu

D. Tunda zuri na jiwe mbaya ni yangu -

Kanusha katlka wingi wa ukwabwa: Uso wa mama
umeiva kwa kulia. -

A. Vijuso vya vimama havikuiva kwa kulia

B. Majijuso ya majimama hayataiva kwa_ kulia.

C. Majuso ya majimama hayajaiva kwa kutolia

D. Vinyuso vya kinamama haviivi kwa kutolia

Sahani na __nikama chungu na mkungu.
A.kikombe

B. kawa

C. sinia

D. kijiko

‘Chagua methali inayofaa maelezo haya:

Tumejaribu kulililia wabunge wetu wasijiongeze
mishahara lakini wametupuuzilia mbali.

A. Nyani haoni kundule. huona la mwenzme

B. Dua ya kuku haimpati mwewe

C. Kilachombo kwa wimbile

D. Apendaye akijua.hujisahau

Ukinichora mimi ni kama umbo la mkate. Mimi ni

A. tao

B. kiegema

C. hori

1. mche duara

23.

1.3 5 79 lSnambanhmhmtwa

: AKlpeo

B. Shufwa

. D.Tasa

. 24

25,

Neno w _gyg_huwa katika ngeh ya_.
A.U-zi _

B.l-zi

C.U-i

B R e s il

Kihisishi gani kmachoonyesha dhamu" :
A.Ole wangu

" B.Po!.
- C.Masalaale!

1 26".

3.

28.

- 29

- 30.

D. Sadakta!

Chagua jawabu lenye kinyume cha kitenzi.
A.Mrefu-mfupi | V
B. Haraka-taratibu

g Kwetu-k,walb

‘D.Beba-tua

Kitate cha neno panda ni
A.shuka

B. kwea

C.banda™

_ Dpandnsha

‘Malipoya awali ya kufunga kitu mach@takakununua A

ni

A, ushum

B. arbuni
C.karadha
D. kifungua mkoba

Chagua sentensi iliyo katika wingi wa nafsi ya pili .
A. Nyinyi mna mazoea yasiyopendeza-
B. Wao hawana haraka maishani
C.Sisi tunayasoma masomo magumu
D. Wewe hukupewa mwaliko maalum

Kuharibu kile ambacho hukunufalsha sanani
A. kumeza mrututu

‘B.kujitia hamnazo

C. kupiga vijembe

- D. kutia kitumbua mchanga
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Mapato ndiyo mammaxm m Bum, chai, mkonge, kmanga,mamnast, mboga,
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vizuri . Kwakuwayeyemmjummhesabu,n@eaﬁy}_ ,__:wakuwamwgkahazmawadtﬂcahxlo Nakila

Mapato ya k:hmo na mapa!oyadukahugawanywa kwa kufuata maratlbu uliokubaliwa. Vtongoz; -
‘hata vmtum:sln w&seukalt hawa:gﬂn sana vwm hm ilaikiwa kuna tatizo kubwa. Hata hlvyo wongozn wa
serikali wanaangaha kuona kwmxbawam wote wanapata chakula bora. na hasa watoto kunywa map saﬁ o

kucpdcmxa na’ mago;wa, kutoa hudumakwa akma mama kuendeieza afya ya watu kwa jumla
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33. M

o Aa‘madhulmm,dmk;mubomwamaxsha

;B kuondoa dhiki pamoja na ubora wa maisha

,,‘34_._:

Kulmganana taanfa, unyonyap unaletwam

R bxashamkmmhkxwanawachache i

B & :v.-mapaeakugawanywakwa- kutoﬁutamxiaratibu'- 1

~ D. dukalote kuwa la nduguwote wa janibu

35.

Wanasadlkska wote ni

y wakuhmnawafanwkaza

. -'Ewafnmlmwmyonyay

. C. wazalendona wanatangamana

L %136

D. wakuhma na wasasi " : A.Q

Wanasaxdrklka wahamua kujxunga pamo;a na -

kuondoa 2
A. ufukara
B. maradhi

'c ukmﬂmba 3

**-?Meﬂmﬁmbayomyakuimhabmimm e '
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| Soma habari hii Iusha uybu maswali 41-50

Safari ilikuwa ndefu Hawakuwa na bud1 ;@ masia kwa sababu lichaya mag,an kuadumka kama barafu
ya kuazmga hapakuwa na tankx Kulikuwa na vula msituni ungedham vnhtengenezewa panya.

Msitu ule uhkuwa umejaa wanyama tumbttumbl tena na klla aina. llikuwa nadra sana kumwona mitu akltembea -
peke yal\e Yamkini wahamml kuwc\ klfo cha watu weng,l ni arusi. Wanaume kwa wanawake wahkuwa kwenye'
charo. Wallkuwa wakngun_'a sehcmp ile kwa sababu watlhoﬁa kuvamiwa na wanyarr_la pori. Kila wa,l_tpopanda ‘

' mazao yalo yalikuwa chakula cha tcmbo.—mbogo na wanyama ambaé hula mdzéo ya shambani. Usiku uli.k‘uwa wa -
kutisha. Hawakupata hata lepe la usmgrzn kwa sababu mtfugo yao |hkuwa katika hatari ya kushambuhwa na chm
; duma na snmba Masalbu yahwas’bu na i(mvazxnglm Wakaamua kuacha mngunda yao mana nhkuwa na rotuba ya
 kupigiwa mfano.

Waﬁaume waliangata m'izigo yao na wana;vake Waiiimfika Watoto walielekea na safari ikauma mchanga
alfajm na manyera huku umande uklwalowesha J ua hhangaza laku;x ukah Wa mlale yake halkuwasumbua Safan '
1llpoanza kunoga ghafla bin vuu, wahklfumama kjkundlcha mbogo. Mbogo hawa wahkuwa wakmywa ma_)l .Bila
kuboronga wasaa .nyan waliwakabili yllnvyo. lea mtu ahtund;ka guu begani. Uhkuwa wap_bu wa mtu kuyaokoa
' maisha yake. Vumbi lilitifuliwa. Walipoona majl yamezidi unga, walik\éVeaj u-u ya nﬁti. ; Nyati walipita wangu war{gu‘
na hatua chache baadaye walikutana na simba. Slmba wahamlm kuwa mlo umejlpeleka wenyewe Mbogo wa
kwanza alishikwa na kutoa sautl ya kutnsha Vlta kamih v1héuka dhldl ya snnba na nyati. Slmba ahpambana na
N kuypaua 5hxbe ilhali nyati alikuwa na nia ya kuyanmum malsha vake Katika shamrashamra hizo, nyatl waltktmbxa’
waklfuatwa kwa kasi na simba. - Ly

Hatlmaye wasafiri wahpata muda wa kuendelea na satarj yao. Walikuwa wachovu kupmdukla na wenye v
Jitimai. Sikuilianza l\ukuchwa na hawakuwa na makao maalum ya malazi. 1 hwalaamu kuwasha moto mkubwa na
kutengeneza malazi karibu na moto huo. Sehemuile haikuwa na wanyama. Miti ilikuwa mifupi. Ilibidi kutembea
kwa muda mrefu ili kupata mvua. Mvua ilipon}esha ilikuyvé ya kuondoa vumbi tu. Mimea ilinawiri kwam udakisha

. ikakaushwa na jua lililoleta joto >ungedhani ni tanuri.
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41.

Sikweli kuwa

A baraste zilikuwa nyingi

42.

B. vijia vidogo vidogo vilitumika
C.safariilikuwandefu

D. kulikuwa na uhaba wamagari

_Kisawe'cha “i(uenda masia” ni_
A. kuenda chemba

B.kupiga milundi -

38 kuepda kwa mesiya N

D. kupiga miluzi

Wasafiri walisafiri kwa makundi iti
A.kuandamana

. B.kuhofiana

44,

*C. kuhimizana

D. kulindana

Maana ya neno charo ni

‘A, kundl 1a wanyama pon

B. kuhama

. C.kundi la wasafiri

" 45,

D. msafara wa ngo’ombe

Wasafiri walipata nafasi ya kuendelea na safari

" wakati

46.

A. kulipokucha :

B. nyaiti walipokimbizwa na simba uhyoun_vo
C. walipoﬁnhﬁnia mbogo wal_\'ir{ywa maji

D. umande ulipohinizika nya'sini ,

Watu walihofia nini hasa ndrposa wakas.un"

i quakupun"uakwa kiasi Mkumb\w
'B. Mmomon) oko wa udongo ulizorotesha lotuba
C. Kushambuliwa na wanyamaponkllamam o

D. Wanyama pori walianza kula wapiti njia

A Wal-iku'wa na wavune na mjdnzi ya kixt'wa

48.

B. Wahkuwa wakihofia wanyama pori usxku

C. Walikuwa na makao maalumu ndlposa

wallcholga. :

D. Wakaribia kufika-waliokuwa wakihamia.

_.Sentensi ipi inayoonyesha sababu kamili
iliyowafanya watu wakose usingizi usiku?
A. Mazao ya mashamba yalikuwa finyu

~. B. Uchovu wa kutembea muda mrefu

 C. Hawakuwa na vitanda

D. Hliwapasa walinde mifugo yao,

mamaam

A Wanyama pori wengme wahkuwa shibeya . -

50,

Simba.
B. Walitegemea masiya safarini
C. Walitembea kwa miguu

D. Walikuwa wameshiba kutokéna na*shibc_i

Vita vilizuka dhidi ya Simba nambogo. Je. nimethali
gani ingetumiwa kudhlhmsha haya?

A.Vitavya panzi furaha ya kunguru

B. Hasira ya mizi furaha ya mivuvi

C. Angurumapo simba meheza ni nani?

D Meno ya mbwa hayaumani
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' KCPE FOURTH TRIAL
'STANDARD EIGHT 2015

ENGLISH
SECTIONA: o | o £
LANGUAGE . . - Time: Lhour 40 minutes

11

12.

READ THESE INSTRUCTIONS CAREFULLY
You have been given this quest|on booklet and a separate answer sheet. The question booklet contams 50 questions.

Do any necessary rough work in this booklet.
When you have chosen your answer, mark it on the ANSWER SHEET not in the quesuon paper.
HOW TO USE THE ANSWER SHEET
Use an ordinary pencil only.
Make sure that you have written on the answer sheet.
YOUR INDEX NUMBER
YOURNAME
"NAME OF YOUR SCHOOL

By drawmg adark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number
and the three-figure Candndate s Number) in the grid near the top of the answer sheet.

~ Do not make any marks outside the boxes.

-

Keep youranswer sheet as clean as possible and PO NOT FOLD IT. | :
For each of the Questions 1 - 50 four answers are given. The answers are lettered A, B, C, D in each case only
ONE of the four answers is correct. Choose the correct answer. T et o

On the answer sheet show the correct answer by drawing a dark line inside the Box in which the letter you have .~

chosen is written.

Example
In the question Booklet: : :
Choose the correct ending from the options given :
22. Joyce as well as her daughter . ' o ol : o
A. have arrived \ g
B. are present
C. were nurses
D. isa nurse
The correct answer is D.
On the answer sheet . _ :
B (Al [B] [C] [D] amcs B oareico  E [A] [B] [C] [D]
In the set of boxes numbered 22, the box with letter D printed in it is marked.

Your dark line MUST BE within the box.
For each question ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 7 printed pages.

Printed by : Stega Print & Publishers Lid: Tel: 0722-232 164 Cell: 0722-822 364 Nairobi
Email: Stega.Printers@gmail.com




ggx@mawﬁexhaumed The 2 eventsand his mjuneshad RS | sapped

-~

hisenergy. _ 4 hewas_5 _to soldier 6 . Anhour_7 __, hehad __8 examinéd byadoctor .

at the, 9 . and his wougd 10 afresh. Another dose of pain killers had given him _ 11 resfnte'l"ﬁ’é f)oﬁ'ce :
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16.

17,

18.

19.

20.

For questions 16 and 17 choose the best
alternative to complete the se ntghce. .
We had hardly boarded the school bus

A.when the rains fell

B. than the rains fell

- C.andtherainsfell .

D. but the rains fell

The clouds were very heavy :

A. but it rained cats and dogs

B. althoﬁgh itrained

C. and the sun shone

D. but the sun shone brightly

In_question 18-20, replace the underlined

words_with a suitable alternative

Her wedding was put off to a later date.
A. cancelled

B. postponed.

C. scheduled

- D.changed

He looked at me suspiciousl)_f.
A. saw.
B. gazed

C. stared

‘D:admmired . >

Choose the correct preposition

Njeri got married Peter in a colourfui
wedding. |

A. by

B. with

C. for

D.to

21,

24.

g

9%

- We wefe cautioned nottolean ~ the wall.

A. against -

B. by
C.onto

D.into -

For questions 22 and 23 choose the alternative &

 that means the same_as the underlined ot
22,

Not only did she fall sick, but she was also admitted,
A. She was admitted because of sickness

B. She was neither sick nor admiﬁed

C. She was sick and was admitted too

D. She wasn’t sick but got admitted

. Daniel said he’d soon graduate.

A. Daniel said, I would soon graduate
B. I will soon graduate,” said Daniel.
C. Daniel said that “1 would soon graduate.”

D. “I'would soon graduate,” Daniel said.

Choose the alternative that best completes the

sentence

“The driver was offered ajobbuthe ,
A. turned itaway

B. turned it back

~ C. turned it off

" D. tumed it down

The story was not true; The boy had made it .
A. off |

B. across

C.up

D.along ;
ENG HB-04/8/15



Read the passage below carefully ami answér qaes?wns 26-39. .
In Kenya’s Nyandarua region sits a vnliage oalledJaa that was hlt by along and hatsh drqught several years

ago. Foodandwaterbeg:mto runout. CmpsandammalSpenshedmd hfewasreallyhardforalltosurvwe Outof -~

the great suffering, wllagers setout tothe footef Mt. K&tyate appease their gods. They offered animal sacnﬁces
and waited hopefully for the rains.

The solution came early ongmoming. Maitu, a poor farmer, was tilling her farm; trying to find somethinginthe |

barren land. She stumbled on a large pot contalmng a few grains of beans. She was surprised but carried it back
g home to cook a meal for the famdy To her 10}', the pot l(ept bubblhng and dehcnous food poured out of the pot.
" Onoe the family had thear B, theysawthe potsnll overflowed with food. ‘ |
| Maitu and her husband decided to shce the food wnh the wllagers since they were also hunger tricken. They
cailed the rest of the netghbours and shared the food \P{lﬁ’l them. Each person took as much as they neededand
- carefully saved the rest for the othels. The vxﬂagers wer&oveljoyed and thanked them sincerely. It went on like this
" Sox some days and though times were mﬂmugl, ﬂ!evﬂltgers at least had food for themselves and thelrammals
‘ But soon the villagers became greedy. Instead oﬁtakmg only what they needed and sharmg equally, some
. began to take away huge portions. They began to waste food and-only threw leﬁovers toammals They stopped .
1 v:ewmg the pot asa blessing i in dlfﬁcu!t times. The couple began to worry that they would be pumshed for the” b
: mgratcﬁllbehav:onrand devxsedacleverplantoteachthemalesson, k
' The next day whent!le villagers amvedat Mmm’s house expectmg their usual bounty of food, they were
| greeted by sad faces ometu fnat«tﬁed wb:Sper Maitu said that the pot was empty and had
: istopped pmducmg food The v1llag::rs wete shockedand wondered what to do. They all returned home hungry.
. e Thts oontmued fora few days, unttl the v:llagets began to rue their rash actions and realized the value of the pot. For
daysthey became weak and could hardly walk They w&shed they were less wasteful
Mmtherfannlyplhedmem,butoxﬂygavetbemfoodfromthepotagama.ﬁerttwywemsmethevﬂlagers

had leamt a lcssen Y -would be less.greedy. From that day on, the villagers did not waste food. It was not long
At :b}x-q S e

~ before the rains camemdt!w%mpmspemusonoe more. The v1l|agers went back to the foot of the mountain
o pmyandtlmnkthenrgodsonthe&sﬁngofmin

4 ' ENG HB-04/8/15 -




26.

From the first paragraph, we lean that the drought

was
A.tolerable »f
B.extreme - 4 1
C.fair -

. D. harsh but tolerable

27,

28.

“Food and water began to m:wut
that

A. there wa_svade_qnate water for food
B. rains camie in torrents -

C..people ran away from drought

D. waterand food staned decreasing

The wordmh can bereplaced w:th

A. survxve
B.die
C. run out

" D. evacuate

29.

30.

31.

£ "32.

Why did the villagers go to the foot of Mt. Kenya? |

A. to plead with their gods for rains
B. to look for food and water .

€ therewasadequatetoeatzhere RIS
Dtbesoda:thefnowﬂhemom:;mfmle 3 4

ThelandMaituwastillingwasbanen. 'lhismmnsit )

A. wasn’t productive

B. wasn’t fertile

C. had encugh food |

D. couldn’t support survival ofachild -

Maitu benefited from . :
A. the sacrifice offfered at the mountain

B. the villagers® prayers .

C. the pot she stumbled on whnle tilling land
D. her hard work

Which of the following happened last? -
A. she cooked ameal for the family
B. Maitu carried the pot home
C.shegot surprised

* D. Maitu stu_mbled on a fortune

ar Thts {neans

33.

34.

35.

-, 36.

37.

38

39.

h

Tohaveafillisto

A besatisfied

B.fillcontainers  ©

* C.bealmost full

D.to hai'e none

Accoﬂhg to the passage, Maituand her husband®. ;
can be described by all the following except

- A.unselfish

B.mean
C. generous.

: D. kind

Whtdxofﬁnfoikmh&explmswhy&mcouple
shared the food? . -

' A.meyhadeatentothetrﬁll

B. they were kind
C. the villagers were also hit by hunger
D they had nowhere to take Ieﬁ overs

Why did thecouplethinkof hamhmg aclever plan'?
A.to teach the vnllagers how to behave '
B. tlwyhadbeoomless lovmg )

0, mmpﬁmsmmthmhome

D. meyﬂloughttheywouldbepumshedforthe 5
_ ungrateful behaviour o

Maitu and her family wore sad faces™

" A.because they were hungry -

B. to make villagers believe there was no food at all

- C. because the pothad stopped: ucmg food
D. beoauseﬂwywueannoyed e
Dueto lack of food, vdlagers
A.died
B. could not walk

C. walked with problems v
D. learned to be wasteful

The villagers mainly leamt that
A. they shogld not be wasteful.
B. they should be sharm;,

- C. droughtcankill

D. they should keep praying
" ENGHB-04/815



Read the following passage carefuII) and rhen answer questions 40 - 50.

People who lack the ablhty to hear are sard to be deaf. Deafness is also referred to as heanng

_ 1mpa1rment which can elther be total or partial. People whe begin to go deaf in adult hfe have different

problems from those who are born with a hearing rmparrment Theyhave to learndl fferent ways of behavmg

. and differen’t ways of communicating, perhaps at a time when learning is not at all easy.
Such people have to learn how to use a hearing aid although the'dev'i_ce is not a complete solution to their i

| problem. The sound perceive’d by the hearing impaired person through the hearing aid is distorted and appears

to have more background noise than is heard by someone wuh normal hearing. In addition, the hearing

. 1mpa1red have to look at the movement of the speaker s lipsin order to understand what the speaker is

~ saying. Thls is called llp readmg Lip readmg is difficult, itdemands intense concentratlon, and an uninterrupted

direct view of the speakets face. No other actrvmes can take place at the same time: the lip reader has fo stop

eating, stop washmg up, stop mendmg stop everythmg in order to concentrate on ‘hearing’. This may make

. them appear stuprd to the ignorant. However, it is not a question of stupidity, buta way of ensuring that the lr p '

reader does not misunderstand the message. Imagine what it is like trying to communicate to someone ina

very noisy classroom. Frustranng, isn’tit? -

The hearing lmpmred have to: faee that all the time. A useful way of lookmg at the problemistoseethe - ,. '

hearing impaired. person as a foreigner and to treat him or her asif you were in a foreign country. This means

that you have to speak more clearly and to raise your voice lightly. You haye to use gestures in Q,l;derto make, .. .
h your meaning clear and also to be ready to use pencil and paper to be absolutely certain. It is also important - |

o make sure that you do not obscure your mouth with your hand or any object.

Another point quite forgotten is that a heanng aid may be quite useful ina quiet room. But try itona busy

street, in a noisy market, bus ar classroom and you have a really dlfﬁcult problem distinguishing speech. So

- do not suggest to or even encourage hearmg impaired people to go to functions which are going to make '

dlsablhty appear worse and thus increase their sense of failure. This d()es not mean that the hearing mnpmred

should be cut off from social activities. On the contmry. you can carefully select for them entertarmnent.places

- with good sound systems. Also choose the best seating locations so that their hearing is enhanced rather than

hindered. Making sure that the people talking are clearly seen will also help.

(Adapted from Effective Reading by Simon Greenall and Micheal Swan)
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e A

by,

40.

Henng 1mpamnent or deafness

- A.isasignof inability

- 41.

42.

B. can only be partial ,
C. is brought about by old age
D. iseither partial ortotal .

People who go deaf in adult life have to alter their

A. ways of talking

B. ways of communicating and behavmg
C. leaming tactics

D. breathing devices

Accbrding to the passage, hearing aids are mostly
necassary to __

A. all hearing impaired

B. those who lose their hearing in adult life

C. all people born deaf

.43

44.

45.

 D. all who feel like using them

:Ihe word hearing device can be replaced with '
A. an instrument

B. an assistance

C.atool

D. a machine

Which of the following is true?
A. deafiessis fullly solved by use of a hearing device

B. the hearing aid helps one to have clear sounds.

C. aperson with normal hearing should use the
hearing device. '

D. one who usesa hearing device hears more
background noise. )

Lip reading refers to :

A. reading aloud by repeating what the speaker is
saying |

- B. reading by use of lips

- C.looking at the movement of lips as a person

speaks in order to understand what the speaker |

is saying
D. trying to understand what the speaker is saying

using the hearing device

- 46.

What is meant by intense concentration?
A. umnterrupted followmg of speaker ] hps as he
speaks

B, studying the movementof lips s

47.

48.

- C.keenly speaking like the speaker does.

D. cohcéntrating throughout

Inorder to hp-read, one should doall the followmg
except

A.stopeating -
B. Stob congcentrating -
C. stop washing
D. stop mending

The hearing impared should be discouraged from
attending functions that ' .

* A. may worsen their hearing problem

B. haveentertainment systems

C. are carefully selected

. D. decrease their hearing failure

49.

50.

The word obscure can be replaced by
A.close

B. protect

C.hide

D. block

The most sultable heading for the passageis

_A.The hmnng impaired
- B. Causes of deafness
& Remedy for deaf people

D. Hearing Aids
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